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Supplemental Problems for Section 2.1
Example 1: The point P(9,7) lies on the curve 
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. If Q is the point 
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, find the slope of the secant line PQ for the following values of x.
a. 
x = 9.1

b.
x = 9.01

c.
x = 8.9

d.
x = 8.99

e.
Based on the above results, guess the slope of the tangent line to the curve at P(9,7).


Solution
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Example 2: The experimental data in the table below define y as a function of x.
	x
	0
	1
	2
	3
	4
	5

	y
	3.9
	2.6
	2.3
	2.5
	2.8
	3.8



a. Let P be the point (4, 2.8). Find the slopes of the secant lines PQ when Q is the point of the graph with x coordinate x1.

	x1
	0
	1
	2
	3
	5

	slope
	
	
	
	
	   




b. Draw the graph of the function for yourself and estimate the slope of the tangent line at P.


Solution
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